CSC310 Programming Languages 
Homework 4 (Due: Monday, March 25, 2024)
Every homework SHOULD BE TYPED !
Answer following questions:
1. Exercises 3.14 (p171) (Make sure to do for both static scoping and dynamic scoping)
3.14 Consider the following pseudocode:

x : integer – – global

procedure set_x(n : integer)

x := n

procedure print_x()

write_integer(x)

procedure first()

set_x(1)

print_x()

procedure second()

x : integer

set_x(2)

print_x()

set_x(0)

first()

print_x()

second()

print_x()

What does this program print if the language uses static scoping? What does it print with dynamic scoping? Why?
